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(1) 22x23= (2) x2xx3= (3) 2% =22 =
(4) x*+x2 = (5) (23)% = 6) (x3)?=
(7 X3 X X3 = (8) x12 +x04 = 9) (x§)2 =
[§ﬁ$ﬁo)? I ‘yb] X% x Xb — X(a+b)
- FEE O FHRIRA X%+ xb = x(a-b)
PR OFEICE LT, RO X D ARBBIE Y 32, (X®)P = x(@xb)
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x*=bBEO N> TNDETDH, ZDOLE, blIxDMFETHINEVIRRTEXD, TN
THY, logyb=aldbbbOTLENTED,
() log,8=3 (23=8L1Y)
log;,100 = 2 (102 =100X% )
logs1=0 (5°=1X%"Y)
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(1) log,16 = (2) logs125 = (3) log;81=
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logx(a’ﬁ) = log, a +log, B
a
log, (E) = log, a — log,

log, a™ = mlog, «
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(1) log,(4 x 8) = (2) logs (%) = (3) logyo 103 =

5. logya =3,log, B =20, &, LLTOXFRDIEZ KD L,

(1) log,(af) = (2) log, a? = (3) log, (%2) =
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- FEEBA R & A BE R
y=a* OX 5B AEREEE L, y=log,x DX D 7eB%E R L L5,
ZD2O00BEIE, xEyE ANBRZTZERICH S,
GEW)  y=a* OMilZzaxKETHHEE LD L
log,y = log, a*
log, y = xlog, a
log,y =x
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H DB DOTESIT, R 5% THD 95, ZOTEEICTAITRHIT D & X, THED LD 2 G 2B 2
L DVE, ATERZR D,
ZOMEIE, y =105 W OB T, y=22 &2 5x2 KDL EVWHI L THD,
T7ebb, 1.05* =2 5x%wRD D,
ZOWGAD 10 R E T HEE & DH L
log;y 1.05% = log;, 2
xlogqo1.05 = logyg 2

logqo 2
x= log, 1.05

ZIC, WHREFRE S D L logyy1.05 = 0.0212,1081,2 = 0.3010 THLHDT,

0.3010
X =
0.0212

T 7006, 15 FRZITITFAESN TD 2522 5.

= 14.198---
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